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646 FHIEER HEER 100,000
647 FERER =F4 500,000
648 FEEAR EHE S 60,000
649 EEIER J\CHT 140,000
650] ERHEER By EF 100,000
651 THIRER INE R A —620,000
TARECEIN! ¥R 243 560,000
653| fHEJIIE JI T 42,350,000
654 fZEJIIE HEERT 49,200,000
655 fAXEJIIE EEET 65,900,000
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656 fZEJIIE EixTh —9,200,000
657 fAXJIIE R —3,550,000
658 fZEJIIE /INHIETH 1,930,000
659 fAXEJIIE E A i) 10,000,000
660 fZJIIE BEFh —750,000
661 #®=EIJIE =j@ath —1,030,000
662| fZJIIE E 350 6,530,000
663 fAxJIIE [EATT ~13,740,000
664 fZJIIE K¥0th —5,700,000
665 fAZxJIIE FEEH —1,080,000
666 IR BESLTH —4,090,000
667 fAxJIIE FEE th -15,590,000
668 fZJIIE B EAT —1,080,000
669 fxJIIE wEh —4.,880,000
670 ZJIIE =LA 490,000
671 ®EIJIE KEEHET -90,000
672] HZEJIIE —=Hr 920,000
673] fAXJIIE b HT -280,000
674 HZEJIIE K FHHT —480,000
675 fAXJIIE N L] -210,000
676] )R L1 3k BT 220,000
677] fAxJIIE B R BT 850,000
678] ZJIIE FE AR ET -390,000
679] fAXJIIE E#EET ~550,000
680 IR 35 o] [ T -320,000
681 fxJIIE % || BT —2.,020,000
682| ZEJIIE FAT —150,000
683] #FHEBE et 53,300,000
684| FBE ER™ -16,590,000
685 FHEE =% 2,580,000
686| FaE islonl —3,000,000
687 FAE hHEHET —4,890,000
688 F#AE INFATH —-890,000
689 FEHEE T —120,000
690| ¥BE +BHHEH —1,530,000
691 FEBEE Rt —1,720,000
692 AR ET —2.520,000
693 FHABEE Feth —1,580,000
694 FBE RAEllh -10,000
695 FHEBEE WaT™h —490,000
696| FABE AR —1,200,000
697 FABE T 560,000
698| FBE P E —1,420,000
699 FHABE BT 5,150,000
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700 FBE Biamh —-800,000
701 #FBE i 1,390,000
702 AR RN —720,000
703| #mE EDEEHT —1,100,000
704 FHABE AREF -30,000
705 ¥R Ba] = T 1,140,000
706 FBE H 2 UG T —280,000
707] #FHABE i ) T —140,000
708 FriEE JEFaET 2,140,000
709 AR PRES —480,000
710 FBE ESNIES] 30,000
711 #FBE E%,ﬁ»ﬁ 30,000
712 EIE = LU 520,000
713] EWIE = [ —7,700,000
714 FIE BiETh —2.500,000
715 EWE KR H —640,000
716] EFIE &I —2.380,000
717 =R S —1,230,000
718 EIE Wt —1,300,000
719] EWE INKERTH 880,000
720 EIE EAETh 510,000
721 EWE ik -940,000
722 EIE FHEH -30,000
723 EWE N alfj]:) 1,700,000
724 EFIE 37 LI AT 60,000
725| EWUE A ZEHT —490,000
726] SILE EA H T 420,000
727 AR £Rh 25,470,000
728]  HAIE tEth —-370,000
720 AIJINE INATH —1,740,000
730 HIJIE e 3,360,000
731 AIJE koM h 1,790,000
732] HIIE mET —2,750,000
733 AIJIE FrETH 390,000
734 AIJIE NESGil 510,000
735 AIJIE =G 310,000
736 AIJIE BEETH 5,830,000
7371 HIIE Fammh 4,320,000
738 HIIE MEld:) 450,000
739 HIIE 2 IR HT -1,160,000
740 RAIIE A 2 T —-690,000
741 AJIE S8 520,000
742 AR = EEKET —290,000
743]  AIJIE o e B HT 1,000,000
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744 HIINE 7K HT 560,000
745 AINE AE 2 T 1,980,000
746 fEHE *E.#ﬂu 7,650,000
747 EHE HET -570,000
748 EHE IINET 140,000
749 EHE KErh -950,000
750 fEHE B LU tH —-920,000
751 1EHE fEiImh -2,900,000
752 fBHE ﬁybbﬁi —610,000
753| fEHE LA —2,170,000
754 EBHE IRFTH 2,270,000
755| fEHE 7K S HT ~70,000
756 fEHE th EHET -160,000
757 fBHE 7 % gif BT 310,000
758 $BFHE FTES —-40,000
759 fEHE 3 /EHT 330,000
760 fEHE = /EET —790,000
761 fEHE HHLET -250,000
762 WERLE BT 4,720,000
763 LWFIE Et+E5HT 2,120,000
764 IJJ*”LR #EB™H 580,000
765 LLFISE MEN 3,000,000
766] LEIE FElFH 1,820,000
767] LLFIE 7 ILITATH 690,000
768 m*”ym bt 680,000
769 ILWEE =M -5,730,000
770 WWERE LEERE™ 860,000
7711 LFIE B 1,960,000
772 m*”yﬁ hh —1,100,000
773 [LFIE 1| =480T 30,000
774 WWFE B I #T 210,000
775 WWFE B JiE BT 950,000
776 IJJ*”LR A 5 HT 510,000
777]  ILWHE = T JIIHT 1,020,000
778 WWFIE FR #0 HT 170,000
779 WWFRE B A 50,000
780 _(LEIE ﬁﬁw 20,000
781 LFIE R E A 150,000
782 LFIE MERSES] 200,000
783 LFIE ERt 690,000
784 UJ*”LR S 58] O EET 1,500,000
785 ILWEE INEF 10,000
786 LUFE BRI 30,000
7871 RFE E&Hmh 21,710,000
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788 RHE WA -5,990,000
789] EBHE +HEH —40,000
790 EHE & h —1,370,000
7191 RBE R A -910,000
792 EHE W™ —60,000
793 ERFE AR —2.770,000
794 EHE INEETH —-300,000
795 REFE FAH 4,080,000
796] EHE Bo) 4 AR 680,000
797 REE & —1,000,000
798| EHE KHETTH 1,300,000
799 REFE Rl 970,000
800| EHE EZ5hn 1,740,000
801 REHIE EERT —4,080,000
802| EHE fEAT 6,000,000
803 REE Fehth —3,530,000
804| EHE R iE™h 1,020,000
805 RHFE Z=5Hmh —20,780,000
806| EHE /N HT 180,000
807| RHE A At —220,000
808 EHE LR 290,000
809 RHFE & AFEHT -80,000
810| EHE B H R HT —450,000
811] RHE 3L FHHET 120,000
812| EHE A -90,000
813| REHE R FOHT 160,000
814] REFE T EREAET 680,000
g815| RHE =T RET —900,000
816| EHE JRH] —140,000
817| RHE H EmHT -560,000
818| EHE i S HT 40,000
819] RHE F H im At 770,000
820 EHE EES 270,000
821] RHE =l 220,000
822| EHE NI —260,000
823 EFE = FR T 2,800,000
824 EHE n] B T -60,000
825| RHE Ba] %5 44 —70,000
826| EHE ELH 20,000
827| RHE icBRE R 10,000
828| EHE &R 120,000
829] REE SEARH 60,000
830| EHE KEEFT 220,000
831] RHE REH 300,000
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832 REFE SR 680,000
833 RHE B2ER —300,000
834| EHE KEHM 180,000
835| EHE ot /N 890,000
836 REFE B A 5 T —80,000
837| RHE AR+ -50,000
838 EHE FiEH 50,000
839] REFE REHF 120,000
840 ERFE A& HT 1,210,000
841| RHE FRAE AT -30,000
842| EHE 24 —-200,000
843| RHE ISED -460,000
844| EHE AL F 30,000
845| REFE A E T —420,000
846 REFE NIIES -590,000
847| RHE BEH 350,000
848| EHE INS AT 310,000
849 ERHFE /N s T 1,650,000
850 EHE 'SR —-210,000
851 RHE L/ A HT —1,170,000
852| EHE REEH 250,000
853 RHFE ¥R R R 600,000
854 REFE =T -90,000
855| REHIE INIIES] 310,000
856| EHE Bl 5t HT 510,000
857| RHE KA -50,000
858| IKEIR Iz B 36,650,000
859 IKEIE KiEth —1,300,000
860| IFEIE S —1,490,000
861 IREIR AR -3,550,000
862| IFEIR Bl —2.100,000
863 IKEIE th;E)lth -910,000
864 IFEIR EP-ninl —430,000
865 IKEIE FETH —2.430,000
866 IFEIR BT —700,000
867 IREIE EEMETH —4,290,000
868 IFEIR T —1,010,000
869| IFEIR %w%l??ﬁ —610,000
870] IFEIE a] B th -5,210,000
871 IKEIR = 60,000
872 IFEIR InfEmh —2.570,000
873| IFEIR REET 1,350,000
874 IFEIR A Bt 420,000
875 IFEIR ZETh 1,550,000
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876 IFEIR Tah —490,000
877 IKEEE BET —220,000
878 IFEIR Iz 7 T —4,360,000
879| IKEIR SFHNET —740,000
880 IFEIR A —610,000
881 IKEIE FEFFHET 2,650,000
882 IFEIR B4 [ BT 250,000
883 IFEIE 4 P BT -390,000
884| IFEIR 5 2 AT -320,000
885 IKEIE 2z )\ HT —410,000
886 IFEIR 35I| BT 10,000
887 IFEIR REFHT 1,180,000
888 IFEIR ;th EH HT 1,550,000
889| IKEIR | &atil —640,000
890| IFEIR IR AT —440,000
891 IREIR JII52 BT -340,000
892 IFEIR tRAT —60,000
893 IKEIR J\EEH —130,000
894| IFEIR =ML —60,000
895| IFEIR EA=DIIEE] 110,000
896 IFEIR 1& = |7 —80,000
897 IKEIR =M —150,000
898 FRMIE g3 Th 55,990,000
899| EEIE JERATH 130,740,000
900| FHHEE repE il —3,440,000
901 FRmME BiEth 430,000
9002 FEmMIE ELXEm —9,150,000
903| EFEIE FETH —2.700,000
004 EFME EHT —1,020,000
905 EREIE &t ~13,930,000
906| FRMEE BEMlh —7,000,000
907 FRmMIE S —6,570,000
908 FEmMIE )l —8,440,000
909| EFEIE BT 4,690,000
910 E¥[E {EHELI5 -20,350,000
11| AR SHH —4.220,000
912| FFME THTH —4,300,000
913 AR EEFTh —1,730,000
914| FHHEE il —2.930,000
915| EEIE FETH 970,000
916 FEMIE {El Tl h 590,000
917 AR % )lth —1,820,000
918| E¥[E FEDES —1,510,000
019 #%MIE A —1,700,000
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920| FHHEE 90,000
921 AR 60,000
022| ERME 280,000
923 FRmME -20,000
924| FHHEE FR{FEHT —-250,000
925 FRmME 3 -490,000
926| FHMEE —1,010,000
927 FRmME —20,000
928| FHEE 1,070,000
929 FRmME —2,450,000
930| FHHEE -560,000
031 AR —1,200,000
932] ZExE 2HET 178,810,000
933 EHIE =it -9,320,000
934| =ZHIE q 12,230,000
935| EHIE ] -36,460,000
936] =iHNE q -1,890,000
937| ZEHE q -17,530,000
938] =HIE it 320,000
939 EHIE q 5,580,000
940 =HIE q —1,780,000
941 ZHE q —4,120,000
942| =ZHIE i —2.620,000
943 EHIE ] -33,300,000
944 =ZHIE q 90,000
945| EHIE i —3,000,000
946 =HNIE q -1,330,000
947 ZHE q —1,070,000
048] =HIIE q -1,110,000
949| EHIE i 1,580,000
950 Z=HNE q —9,000,000
951 ZHE ] 3,230,000
952| =ZHIE q —390,000
953| EHIE ] -5,500,000
954 ZHIE ] -2.910,000
955| EHIE ] -10,760,000
956 Z=HNE it 6,770,000
957 ZHIE ™ -5,640,000
958 =HIE =thH —710,000
959 ZEHE SR —4,120,000
960 ZHIE Hifmh —7,480,000
961 ZHE = —3,240,000
962| =HIE Al -970,000
963] Z=HNE JBZATh —4,250,000
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964 Z=xNE tEZ2aEH -990,000
965| ZEHE FRE —6,930,000
966 =HNE A LL -5,510,000
967 ZIIE HET -4,470,000
968 =HIE EAFH —1,280,000
969 EHIE B 4ERET —3,990,000
970] Z=xNE AL -940,000
971] ZEHE A O HT —250,000
972| =ZxE Tk R HT —70,000
973 ZHE XaHlT —4.550,000
974 =HE B2 THT 1,320,000
975 ZHIE REH —240,000
976] =HIE Ba] A LB BT —-190,000
977| ZHE BT 3,720,000
978] Z=xNE A 0 2 BT —-600,000
979 ZHIE 3 /EHT —1,410,000
980 Z=xNE He —1,200,000
981 ZxNE SE HHET —2,420,000
982 Z=xNE 2% ZE HT 380,000
983 ZEHE ) 540,000
984 =HIE SIRA —20,000
985| =HE& ZEmh 21,420,000
986| =FIE UBATHH -10,650,000
987 =FBEH FEEh 8,800,000
088] =FE NG -3,810,000
989| =HE 4 —9,880,000
990] =FIE $hET -10,170,000
091 =85E & Eth ~3,260,000
992| =&F1E BBt 850,000
993 =FE gl -1,910,000
994] =FE B 180,000
995| =HE REErTh 940,000
996] =F1E LWVERTH —2,450,000
997 =5§& SEH -1,990,000
998 ==FIE FETH —7,050,000
999| =EFEE R 5 IEET -1,000,000
1000f =FE EY=L:i) —2,150,000
1001] =FH8 71 B HT -1,980,000
1002 =F1EH g 5 BT —70,000
1003] =F & J 1 5 T -2.590,000
1004] =&F1E % ST 1,560,000
1005] =58 pN=1] 760,000
1006] ==FI1E B4 —1,420,000
1007] =FE E&SHT 200,000
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1008] =FE R HcHT 1,100,000
1009] =HE B {7 SR T 40,000
1010 =&FE fo LT —1,580,000
1011] =F8 {E) T 1,470,000
1012] =FE& e = HT 1,190,000
1013 HEIE KEH 30,640,000
1014] #ZEE EEH -11,650,000
1015| #ER F/EH -800,000
1016 FEIE WL/ \IETh —-850,000
1017| #EE BE ] -900,000
1018] HEE ST —6,690,000
1019] #EE FEEhH —6,800,000
1020 #HEIE HEH —6,170,000
1021 #HEE S aunt -150,000
1022 HEE MmE™h —1,700,000
1023| #EE =em -600,000
1024 #EE BiriIh —6,260,000
1025| #EE RIRTH 450,000
1026 HEE H EFHT 1,640,000
1027 #HEER = —1,450,000
1028 #HEBE i HT -3,210,000
1029| #HEE = SRET -520,000
1030 #HEIE B EHT —340,000
1031 ZHEHVFT ek 126,090,000
1032| FHHERH ZEEUtH 1,950,000
1033]  FHRAT EEH 18,680,000
1034]  FERAFTF BT 610,000
1035 FRERAT FAT 8,120,000
1036 EERFTF =Eh 230,000
1037] TREBAT &th 3,460,000
1038 HERFF kb5 T 2,400,000
1039| RERATF REZRT ~10,160,000
1040] FERFTF J\IETH —2,000,000
1041] RERAT RHEDH ~1,950,000
1042| HERATF =gt 6,290,000
1043|  FHEDH Eabedit] 2,380,000
1044]  FERAFT KZE)ItH —1,890,000
1045 HERFF K L 5 T 220,000
1046] FERFT A {0 LI BT —540,000
1047| HERAT HFHT —320,000
1048| AR FAHEER —270,000
1049 FRERAT FORET 10,000
1050|  FHARFTF 5 2 HT —-830,000
1051 AR A LU A 130,000
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1052 ERERAF REHRET 520,000
1053| FHEVAT {FEHT -160,000
1054]  FERFT EEET 40,000
1055|  KFRFF N 231,680,000
1056 KIRFF R 69,070,000
1057  KBRFF EFET ~17,350,000
1058]  KBRFF =rhh 16,500,000
1059  KBIRFF wHETH 15,990,000
1060] KIRFF SHm 5,030,000
1061] KERFTF BiFmth 2,190,000
1062  KBRFF O™ —2.320,000
1063|  KBIRFF WAT 51,350,000
1064|  KFRAT &N -5,910,000
1065  KBRAT J\ETH 10,990,000
1066 KIRFF RIEFH —6,180,000
1067] KFRFF EH#MH —2.920,000
1068]  KBRFF EREJh 6,910,000
1069  KBRFF AAERHH 3,220,000
1070]  KBRFF NG —7,360,000
1071 KIRAF RKETH -9,060,000
1072  KIRFF MERT 6,090,000
1073]  KIRAF HmEh 2,340,000
1074  KBRFF P RETH —1,890,000
1075  KIRAF W] -10,860,000
1076  KBRFF EEh —6,070,000
1077]  RBERAF =4 -530,000
1078]  KBRFF B Fmh —1,360,000
1079  KBRAF E BN 3,000,000
1080]  KBRFF REhH 1,100,000
1081]  KBRFF o gz —2.880,000
1082  KBRFF S —2.650,000
1083 KBRFF N I 3,800,000
1084  KBRFF B EE h 110,000
1085| KFRFF EHE -290,000
1086]  KBRFF BEEAMT —440,000
1087 KERAF 5 [if] T —1,700,000
1088  KBIRAF AE EXHT —1,040,000
1089 KBRFF H AT -840,000
1090  KPIRAF ANFHT —450,000
1091  KBrKF T B R #t -160,000
1092 EEE HE™ 113,750,000
1093 EEE JEERTH 28,400,000
1094] EEE [EI&TH 13,420,000
1095 EEIE BHATT 20,060,000
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1096] EEE A=Em 32,480,000
1097| EEE INATH -530,000
1098] EEE EEm -5,600,000
1099 EEE FHh ~1,930,000
1100 EEE fHES —-650,000
1101 EEE B —4.,280,000
1102] EEE G -11,510,000
1103] EEE =it —3,700,000
1104] EEER Falg T —1,390,000
1105| EEE EXC 4Nt 7,620,000
1106] EEE =Xt —790,000
1107] EEE =S th —5,460,000
1108 EEE JIlFETH —3,990,000
1109 EEE INEFTH 1,000,000
1110] EEE =Mt —2.170,000
1| EEE pndEh 740,000
1112] EFE FHRE LT —1,800,000
1113] EEE BEXH 3,560,000
1114 EEE FliEh 2,250,000
1115| EEE mEhhHLTH ~570,000
1116] EEE Eﬁaléﬂu 210,000
1117 EEE E%ri 170,000
1118 EEIE REM —1,010,000
1119] EEE JoETH 3,230,000
11200 EEE f-oDhH —1,900,000
1121 EEE ¥& % )| BT 160,000
1122 EEE % ol HT 190,000
1123 EEE EES N -680,000
1124 EEE & EE HT 5,110,000
1125| EEE I BT -630,000
1126] EEE 2 15 HT -550,000
1127 EEE 4 ;0] BT —220,000
1128 EEE ANFHT —2,040,000
1129 EEE - ERET 310,000
1130] EEE 1% FHHT —320,000
1131] EEE FEHT —430,000
1132] EEE @ R HET 1,030,000
1133| Z=EBE =B 26,640,000
1134 =RE XS HT 540,000
1135| Z=ER RFOBRLUT —1,530,000
1136] =EIE XIEh —1,870,000
1137| E=BE BIRT -390,000
1138 Z=RIE RHFT —-410,000
1139] ZRE & 1,490,000
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1140 =EIE {ElFr T —2.790,000
1141 Z=BE £ EaTh —3,520,000
1142| ZEEBE EZmh —3,450,000
1143] Z=RIE 2 1,850,000
1144| ZEEBE Fheth —530,000
1145] Z=RIE LR -10,000
1146] ZREBE SEFEHT —-800,000
1147| Z=BE =) —1,240,000
1148 Z=EBBH B s Hy 200,000
1149] =R T -30,000
1150 =EIE MEE:) 160,000
1151] Z=BE == 110,000
1152] =RIE EEJ?ZIKET —1,310,000
1153] Z=ER L 20,000
1154 E=EIE EI ALY 70,000
1155| Z=RIE = He T —110,000
1156| ZEBE BHE &+ 330,000
1157| ZBE 4 HT —1,030,000
1158] =RIE FFH —3,270,000
1159 ZEEBE 1 [ T —4,470,000
1160] =RIE =X} —-410,000
1161] =RE =ESdu) -300,000
1162] Z=RIE REHT 640,000
1163] E=ERE NGl 120,000
1164] Z=RIE 2EMN 70,000
1165| Z=EERE EIIES] 170,000
1166] =RIE ESRCHIER] 50,000
1167] ZBE +3E )15t 40,000
1168 Z=RIE eI -20,000
1169 Z=BE IS [ATES 70,000
1170 =EIE JII _E % -60,000
1171 =RE HE M -10,000
1172] LB eI 15,770,000
1173 FIFLUE mrE™h -3,810,000
1174] FF0LE BAH 2,410,000
1175 FIFRLE EHT 160,000
1176] #NaxLIE s th 780,000
1177] FFLE Hilmh 950,000
1178| LR HEm 640,000
1179 FOERILE feJIlTh —2,550,000
1180 FNgriyE aHH —3,320,000
1181 FIgmiyiE ho S EFHET 70,000
1182 FgnE MDOLEHT —750,000
1183] FgriyiE = FFHT -190,000
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1184] FFnLE Al 40,000
1185 FIFLUE I )1 BT 40,000
1186] FNgriE £ HJIHT —-490,000
1187 FIFLUE 3 ;EHT —370,000
1188 FNgriE H=HT -50,000
1189 FFRLE B HT 80,000
1190| FOErLE E[ Eg T 230,000
1191 FIFLUE ATEAHT —-160,000
1192 FgryE H=JIET —280,000
1193 FIFLUE HEHRT 3,510,000
1194 FFnE = HHAT —630,000
1195 FFLE 9 SAHT -90,000
1196] FNgriyE AR £8 3% Jr HT 340,000
1197 FOIERILE AT -250,000
1198] FOERILE o B ) I BT 20,000
1199] FFLE £ 280,000
1200 EBEHUE Bt 11,330,000
1201 EHWE XFth —2,450,000
1202] BEHRE 2E&th —2,000,000
1203 EWE EE™H ~1,160,000
1204] BEHRE =M 180,000
1205| BHE = P HT 70,000
1206 BEHE & GEHT 380,000
1207| BHE J\BEHT —430,000
1208 EHRE = FRHT —-190,000
1209| BHE 5 5l T —380,000
1210] BEHRE = HET 980,000
1211] EBEE Jt K HT —450,000
1212] BEHRE sEN 210,000
1213] EEHE X LI T 110,000
1214] BERE A 5 ET —1,290,000
1215 EWE HEHT 780,000
1216 BEHE HE -90,000
1217| BEHRE H EFHT 10,000
1218 BEHRE SLETHT -10,000
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